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Aufgaben-Quickname: 7649

Aufgabe 1
Quick:
7649

Berechne.

a) 46− 2 = 44 b) 68− 7 = 61 c) 54− 9 = 45
d) 76− 8 = 68 e) 24− 1 = 23 f) 51− 5 = 46

Aufgabe 2
Quick:
7649

Berechne.

a) 764− 2 = 762 b) 598− 8 = 590 c) 267− 5 = 262
d) 622− 1 = 621 e) 396− 1 = 395 f) 581− 1 = 580
g) 365− 5 = 360 h) 414− 2 = 412

Aufgabe 3
Quick:
7649

Berechne.

a) 9911− 9 = 9902 b) 8302− 2 = 8300 c) 4907− 2 = 4905
d) 6835− 32 = 6803 e) 5171− 1 = 5170 f) 6327− 7 = 6320
g) 5381− 70 = 5311 h) 4944− 37 = 4907

Aufgabe 4
Quick:
7649

Berechne.

a) 63− 1 = 62 b) 56− 7 = 49 c) 82− 9 = 73
d) 35− 7 = 28 e) 34− 9 = 25 f) 58− 2 = 56

Viel Erfolg!
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